1. Determine whether or not the following lines intersect. If they do, find the point of intersection.
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2. Find the equation of the plane passing through (1,0,0), (0,1,0), and {0,0, 1)
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3. Find the equation of the plane passing through (-1,2,6), (~1,-1,1), and (0, —1,2) ‘
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4. Find the distance between the point P(1,2,3) and the plane defined by dr — y — 22 = 3
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5. Find the distance between the point P{—1, -1, —1) and the plane defined by —z + 2y — 5z = 1
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(6-8) Determine whether the followmg planes ar‘j’Pa.ra.llei Identical, or Intersecting, or Skew. If intersecting, find the
Ve

line where they intersect. A
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